Nr�
Wszystkie zadania po 2 pkt�
printf "%d"�
�
1�
int y1,y2,y3,y4;


y1=x&17;


y2=x&017;


y3=x&'\17';


y4=x&'\017';�



y1=


y2=


y3=


y4=�
�
2�
int y1,y2,y3,y4;


y1=x|6;


y2=x|06;


y3=x|’\6';


y4=x|'\06';�



y1=


y2=


y3=


y4=�
�
3�
int y,z;


y=x/3%3;


z=x>0||y--&2;�



  y=


  z=�
�
4�
char y1,y2;


y1=x+128;


y2=x+259;�



y1=


y2=�
�
5�
int y;


y=x&2+x&5;�



  y=�
�
6�
char y;


int z;


y=~x;


z=y;�






y=


z=�
�
7�
int y;


y=x*0x11%011;�



y=�
�
8�
int y;


y=x>>1&0XF;�



y=�
�



Nr�
Wszystkie zadania po 2 pkt�
printf "%d"�
�
9�
int y;


y=3*(x>0||++x<0;�
x=


y=�
�
10�
int y=0XB;


int z=x>y?x++:y++;�
x=


y=


z=�
�
11�
int y=x%4;


switch(y){


    case 0: x-=y;


    case 1: y-=x;


        break;


    case 2: x--;


    case 3: y--;


}�



x=


y=


�
�
12�
char y=!x;


int z=y+x;�
y=


z=�
�
13�
int i=012;


for(;;){


    if(i<x) break;


    x++; i--;


}�



i=


x=


�
�
14�
int n=03;


while(n--) x+=x;�
n=


x=�
�
15�
int i =!4;


for(;i<4;i++){


    if(x%2) x++;


}�
i=


x=�
�
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Imię:�
�
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long  Nr=�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
Nazwisko:�
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Uwaga! We wszystkich zadaniach, w których występuje zmienna x należy przyjąć:


int x = Nr / 10 % 20 + 1;�
�
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Punkty:�
12-14�
15-17�
18-20�
21-23�
24-26�
27-30�
�
Ocena:�
3.0�
3.5 �
4.0�
4.5�
5.0�
5.5�
�












